2x—-y=3

8

3x + 2y

@ x=2y=3

DO x=-2,y=1

@x:2,y:1

-3

® x=-2,y

® x=2y=-1

& 2757 A, Dx 2+ ©

-9 of A y

3

3x+2y=238

2x -y




B °

2x +ay =8¢ (2,-2) & H
4—2a =28

sa= -2

bx — 6y = 4°] (2,-2) &
2b+12=4

b=—-4

a+b=-6




2
mex—2y=m _ _ _
AR A { o 4 745 @A S m o] 7He?

@ -9 @—3 ® 1 @ 3 ® 9

% 97 o] x(-1) & o 57 9x - 2y = ~30] |31 o] o] A
B A3} 5] AR sok SE m? — 9, m — ~30] AT,
wkebA] m = -3 o]k,




27

o, a°] &t

o) XeN
1o =

512

o] A

ajl

KA

™

ax+y=2

!

—

NI

s

-3

3y —2x

—ax+ 2

y

ax+y=2

-3

3y — 2x




A, B 5 Ato] U A of| A Ze]et kS At A = 9] 30,
ZHF 2 7S 13000 Lol At7, B =29 2 79t 424t 1 7RE 7000 Lol
ek, Zel 2 7f9] 7HA S Foheizt

>
> = 2000 ¢

9 B9 AL x A, 58 B 9] S y Aoleta ke
3x+2y=13000 ---(1)
2x 4y = 7000 --(2)

(2) x 2 - (1) 84 x = 1000
uhakA Ze] 2719 7142 1000 x 2 = 2000(-Q) ©] .




= Aale] AA%oA Ao] AUE x, o] 422 y 2ha & 1), Ao
Ae)o) g9} Qo] Al o] £AS HHE AAGE A SHT} 45 7]
Scha s, o2 A%} 2 )9l A A 0 2 LRy o

® 10y +x = (10x+y) — 45 @10y+x:(10x+y)+45
® 10y + x +45 = (10x +y) @ 10x+y = (10y+ x) + 45

® 10y + x = (10x+y) x 45

A& g2 Ao At ZALE x, 4o) A £AE y 2t 5 A 4
+ 10x+y , W& 9= 10y+x oItk T2bA] 10y-+x = (10x+y)+45
olt}.




**‘“94 2elof A xﬂ 319 4+ 48 otk o Sate] Fat

S 3} ofx} 3j1] ol 7fstel B 20 ol RYck
o2} 5191 -5 Tatolel,

v
o
|oH,

> ®HeED 163

W 89 52 1, o7 89 58 yHolet s

x+y=48 o Jx+y=48
3 1 > =
§x+§y=20 3x + 4y = 160

L x=32, y=16




Fo o] A}

=2 =]
= ©

Kol Zhgiutels

K} 34 7f9]

o O A% g2 A=

H

EEdedia

ofl

vl
_L,

o] o]7]

<N
=

26 o] Ad-= &2t AU

gept 9w,

7 (

@21

o
&S
P
T

T oK

® 63 @ 839] ® 103

@ 479

Al
oK

™ x =10, y=2 o[t}

s &

ik

3x+2y=34

3y + 2x = 26




A Aol A 6km Bl B 218 7HA] 7k, Al 2km 2 A ol7bchrt
=5 7 ZobA A& 6km 2 DA 2 A|7to] AT Hoj7t A E
5ozt

= km

>
> &HE: 3 km

~&B

A& 2km 2 Ao 7t AR E xkm, Al 6km 2 22 It A E
ykm 2l S}HH,
X oy =

N ©- @<= 5HH x = 30|t} xE @l HYSHH y = 30t
uh2bA 2 ojZt 712l 3km ol




10.

Ed9] Zol7} 2km Q1 T47F Ut} o] $5719] oF - oA 5H
o|e} fu|7} Bitf ®WeFo 2 FH 10 & Tl vy, A2 Weko =

EH 40 & Thof| shdth, SAo7F fu|Eo £ o] whE uf, 5ol

A8 09

e B B S

@® 120m/& @)125m/ & ® 130m/&

@ 135m/& ® 140m/E

%019 22 /%, §119] 422 ym/Holet1 o
B WgEo 2 B 5 Afgte] A2 A7 9] o] 2km o] BE

40x—40y:2000'~©
@D x4+ © & 5FH 80x = 10000

Sx=125
x=125 5 @ A
wrahA] 5Eol 9] &

AstH y =175
422 125m /Eo|tt.




